

نام و نام خانوادگی خانم پاسخنمه تشریحی تکلیف شماره ۱۳۰۰ کلاس ... یازدهم ریاضت ...

$$\frac{-b}{2a} = 2 \Rightarrow \frac{-1}{2a-2} = 2 \rightarrow 4a - \varepsilon = -1$$

$$\varepsilon a = 3$$

$$a = \frac{3}{\varepsilon}$$

$$-\frac{1}{\varepsilon} x^2 + n + 3 = 0$$

$$x^2 - \varepsilon n - 12 = 0$$

$$(x-4)(x+2) = 0$$

$$x = \boxed{4} - 2 \rightarrow x = 4 = \text{طرح مثبت}$$

۱

x	x_1	x_2
	-	+

به ترتیب

$$y: mn^2 - \omega n + m$$

$$\rightarrow m < 0 \quad \Delta > 0 \rightarrow 4\omega - 4m^2 > 0 \rightarrow 4m^2 < 4\omega \rightarrow m^2 < \omega \rightarrow m < \sqrt{\omega}$$

$$\boxed{-\frac{\omega}{4} < m < 0}$$

$$\leftarrow \frac{1}{4} \omega \quad -\frac{\omega}{4} < m < \frac{\omega}{4}$$

۲

$$x^2 - 5x + p = 0$$

$$S = \frac{3+\sqrt{5}}{2} + \frac{3-\sqrt{5}}{2} = \frac{6}{2} = 3$$

$$\rightarrow y = x^2 - 2x + \frac{\varepsilon}{9} \rightarrow y = 9x^2 - 18x + \varepsilon$$

$$p = \frac{3+\sqrt{5}}{2} \times \frac{3-\sqrt{5}}{2} = \frac{9-5}{4} = \frac{4}{4} = 1$$

۳

$$\alpha + \beta = \frac{1}{\gamma} = \varepsilon, \beta = \varepsilon - \alpha$$

$$3\alpha^2 + (\varepsilon - \alpha)^2 = 12$$

$$\alpha = 1 \rightarrow 2 - 1 + m + 1 = 0$$

$$m = -2$$

$$3\alpha^2 + 14 + \alpha^2 - 18\alpha = 12$$

$$4\alpha^2 - 18\alpha + \varepsilon = 0$$

$$\alpha^2 - 2\alpha + 1 = 0 \rightarrow \alpha = 1$$

۴

$$y = a(x-2)^2 + 9 \xrightarrow{x=0} 4a + 9 = 5$$

$$a = -1 \rightarrow -(x-2)^2 + 9 > 0$$

$$(x-2)^2 - 9 < 0$$

$$(x-2)^2 < 9$$

$$-3 < x-2 < 3 \rightarrow \boxed{-1 < x < 5} \quad x \in (-1, 5)$$

۵

$$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{\alpha + \beta}{\alpha\beta} \Rightarrow \alpha\beta = \frac{9\beta}{\alpha} \Rightarrow \alpha^2 = 9, \alpha = \pm 3, \alpha + \beta = \frac{V}{\alpha}$$

$$\begin{aligned} \alpha = 3 &\rightarrow 3 + \beta = \frac{V}{3} \leadsto \beta = -\frac{V}{3}, \alpha = 3 \\ \alpha = -3 &\rightarrow -3 + \beta = \frac{V}{-3} \leadsto \beta = \frac{V}{3}, \alpha = -3 \end{aligned} \left. \vphantom{\begin{aligned} \alpha = 3 \\ \alpha = -3 \end{aligned}} \right\} \beta > 0 \leadsto \beta = \frac{V}{3}, \alpha = -3$$

$$\frac{\alpha + \beta}{\alpha\beta} = \frac{-\frac{V}{3}}{-3} = +\frac{V}{9}$$

(5)

6

$$\begin{aligned} \alpha^2 - m\beta &= 1 \\ \gamma m - m\alpha - m\beta &= 1 \\ \gamma m - m(\alpha + \beta) &= 1 \\ -m &= 1 \end{aligned}$$

$$\begin{aligned} \alpha^2 + m\alpha - \gamma m &= 0 \\ \alpha^2 - m\alpha + \gamma m &= 0 \end{aligned}$$

$$\begin{aligned} \gamma m + m^2 - 1 &= 0 \\ (m + \varepsilon)(m - \gamma) &= 0 \rightarrow m = \begin{cases} -\varepsilon \rightarrow \Delta < 0 \text{ غير حقيقي} \\ \gamma \checkmark \end{cases} \end{aligned}$$

$$m = \gamma \rightarrow \alpha^2 + \gamma m - \varepsilon \xrightarrow{\alpha + \beta = \frac{-b}{a} = -\gamma} \alpha^2 + \gamma m - \varepsilon = -\gamma = -\gamma$$

(5)

7

$$\begin{aligned} m &< 0 \\ \frac{-\Delta}{4a} &= 1 \\ -\Delta &= 4ra \\ -(14 - \varepsilon(m)(\frac{m}{r} + V)) &= 4rm \\ -14 + \gamma m^2 + \gamma \Delta m &= 4rm \\ \gamma m^2 - \varepsilon m - 14 &= 0 \rightarrow m^2 - \gamma m - 1 = 0 \rightarrow (m - \varepsilon)(m + \gamma) = 0 \rightarrow m = -\gamma, \varepsilon \checkmark \end{aligned}$$

$$\begin{aligned} -\gamma n^2 + \varepsilon m + 4 &= 0 \\ \gamma n^2 - \gamma n - \gamma &= 0 \\ (n - \gamma)(n + 1) &= 0 \\ n = \gamma, \checkmark &\rightarrow k = \gamma \end{aligned}$$

(5)

8

$$\begin{aligned} y &= an^2 + bn + \frac{f}{\gamma} \\ &\rightarrow y = an^2 - fax + \varepsilon \xrightarrow{x = \gamma} y = fa - 1a + \varepsilon \rightarrow a = -\frac{1}{\gamma}, b = \gamma \\ \frac{-b}{4a} &= \gamma \leadsto b = -\varepsilon a \end{aligned}$$

(5)

9

$$\begin{aligned} \Rightarrow y &= -\frac{1}{\gamma}x + \gamma n + \varepsilon \Rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{\alpha + \beta}{\alpha\beta} \leadsto \frac{f}{-1} = -\frac{1}{\gamma} \\ \alpha + \beta &= \gamma, \alpha\beta = -1 \end{aligned}$$

$$x = \gamma \Rightarrow f - 1a - 1 + \gamma a^2 + 4a + \gamma = 0 \rightarrow \gamma a^2 - \gamma a - 1 = 0 \rightarrow a = 1, a = -\frac{1}{\gamma}$$

$$a = 1 \rightarrow \alpha^2 - 1n + \gamma = 0 \rightarrow (n - \gamma)(n + 4) = 0 \rightarrow n = \gamma, 4$$

$$\rightarrow n = 4, \frac{\gamma}{\gamma}$$

$$a = -\frac{1}{\gamma} \rightarrow x^2 - \frac{1}{\gamma}n + \varepsilon = 0 \rightarrow \gamma n^2 - 1n + \varepsilon = 0 \rightarrow n = \frac{1}{\gamma}, \frac{\gamma}{\gamma}$$

(5)

10